

نکته 19

برای مثال

$$f(x) = x \left[ \frac{x-a}{x} \right] + a \left[ \frac{x+a}{x} \right]$$

$$\lim_{x \rightarrow (x)^+} x \left[ \frac{x-a}{x} \right] + a \left[ \frac{x+a}{x} \right] = x$$

$$x > x \rightarrow -a < x \rightarrow \frac{-a+x}{x} < 1 \quad x > x \rightarrow \frac{x+a}{x} > 0$$

$$\lim_{x \rightarrow (x)^-} x \left[ \frac{x-a}{x} \right] + a \left[ \frac{x+a}{x} \right] = x - a$$

$$x < x \rightarrow -a > x \rightarrow \frac{-a+x}{x} > 1 \quad x < x \rightarrow \frac{x+a}{x} < 0$$

برای اینکه تابع در نقطه  $x=a$  حد داشته باشد باید راست و چپ آن برابر باشند:

$$x = a \rightarrow a = x \rightarrow \left[ \frac{a}{x} \right] = \left[ \frac{x}{x} \right] = 1$$

$$\lim_{n \rightarrow \left(\frac{\pi}{4}\right)^-} [\sin n - 1] = \left[ \sin \left(\frac{\pi}{4}\right) - 1 \right] = \left[ \frac{\sqrt{2}}{2} - 1 \right] = -1$$

$$\lim_{x \rightarrow -\frac{1}{x}} [x^2 - x] \xrightarrow{x = -\frac{1}{x}} \left[ x \left(-\frac{1}{x}\right) + \frac{1}{x} \right] = \left[ -\frac{1}{x} \right] = -1$$

$$\lim_{n \rightarrow \left(\frac{1}{x}\right)^-} \log n + \left[ \frac{x}{n} \right] = \frac{\log n + 1}{\log n + 1} = \frac{\log n + 1}{\log n + 1} = 1$$

Scanned

$$\lim_{n \rightarrow 1^+} \frac{\sin^2 \pi n}{[n] + \cos \pi n} = \frac{\sin^2 \pi n}{1 + \cos \pi n} = \frac{0}{0} \quad - \text{C}$$

$$\frac{\sin^2 \pi n}{1 + \cos \pi n} \times \frac{1 - \cos \pi n}{1 - \cos \pi n} = \frac{\sin^2 \pi n (1 - \cos \pi n)}{1 - \cos^2 \pi n} = \frac{1 - \cos \pi n}{1 - (-1)} = \frac{1 - (-1)}{2} = 1 \quad - \text{D}$$

$$\lim_{n \rightarrow 1} \frac{\sqrt{p_{n+1}} - \sqrt{p_n + 1}}{1 + \sqrt{p_n}} \quad \frac{0}{0} \quad \text{Hop } n \rightarrow 1 \quad \frac{1}{p \sqrt{p}} = \frac{1 - \frac{p}{p}}{1 + \frac{1}{p}} = \frac{-\frac{1}{p}}{1 + \frac{1}{p}} = \frac{-\frac{1}{p}}{\frac{p+1}{p}} = \frac{-1}{p+1} \quad - \text{E}$$

$$\lim_{n \rightarrow 1} \frac{p_n - \sqrt{p_n + 1}}{p_n - \sqrt{p_n + 1}} \quad \frac{0}{0} \quad \text{Hop } \frac{p - \frac{1}{p}}{p - \frac{1}{p}} = \frac{-\frac{1}{p}}{\frac{p^2 - 1}{p}} = \frac{-1}{p^2 - 1} = \frac{-1}{10} = -\frac{1}{10} \quad - \text{F}$$

$$\lim_{n \rightarrow 0} \frac{a + \sqrt{bn + c}}{n} = \frac{1}{\varepsilon} \quad \text{كسر 0/0}, a + \sqrt{c} = 0 \rightarrow a = -\sqrt{c} \quad - \text{G}$$

$$\lim_{n \rightarrow 0} \frac{\sqrt{bn + c} - \sqrt{c}}{n} \times \text{Hop} = \frac{bn + c - c}{n(\sqrt{bn + c} + \sqrt{c})} \rightarrow \frac{b}{2\sqrt{c}} = \frac{1}{\varepsilon}$$

$$\frac{b}{2\sqrt{c}} = \frac{1}{\varepsilon} \rightarrow b = \frac{2\sqrt{c}}{\varepsilon} \quad \frac{a \cdot b}{c} = \frac{-\sqrt{c} \times \frac{2\sqrt{c}}{\varepsilon}}{c} = \frac{-2}{\varepsilon} = -\frac{1}{\varepsilon} \quad - \text{H}$$

$$\lim_{n \rightarrow -\infty} \frac{\varepsilon + k \left[ \frac{n}{\pi} \right]}{\sin n} = +\infty \quad [-k] \quad - \text{I}$$

$$\lim_{(-\infty)^+} \frac{\varepsilon + k \left[ \frac{n}{\pi} \right]}{\sin n} = \frac{\varepsilon - \pi k}{0^+} = +\infty \rightarrow \varepsilon - \pi k > 0 \rightarrow k < \frac{\varepsilon}{\pi}$$

$$\lim_{(-\infty)^-} \frac{\varepsilon + k \left[ \frac{n}{\pi} \right]}{\sin n} = \frac{\varepsilon - \pi k}{0^-} = +\infty \rightarrow \varepsilon - \pi k < 0 \rightarrow k > \frac{\varepsilon}{\pi}$$

Scanned with



$$\lim_{n \rightarrow \infty} \frac{b \sqrt{r + \frac{1}{n}} - r}{a n - b} = \frac{b (\sqrt{r + \frac{1}{n}} - r)}{b (\frac{1}{n} n - 1)} \quad \text{or} \quad \frac{r + \sqrt{r} - r}{(\frac{1}{n} n - 1) (\sqrt{r + \frac{1}{n}} + r)}$$

$\underbrace{a n - b}_{\substack{\lambda a - b \\ a = \frac{1}{\lambda} b}}$

$$= \frac{\sqrt{r} - r \times (\sqrt{r} + \sqrt{r})}{\frac{1}{n} (n - 1) (\sqrt{r + \frac{1}{n}} + r) (\sqrt{r} + \sqrt{r})} = \frac{n - 1}{\frac{1}{n} (n - 1) (\sqrt{r + \frac{1}{n}} + r) (\sqrt{r} + \sqrt{r})}$$

$$= \frac{1}{\frac{1}{n} (n - 1)} = \frac{1}{1} = 1$$